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8. Gayatri is standing at point Q facing the mark.et. Which place wiU she be facing
if she tums 225° anti-clockwise?

food centre 
market

� / 

pet clinic 

park ---- Q ---- swimming pool 

/� 
library sports hall 

(1) park

(2) library

(3) swimming poof

(4) community club
... 

- •  .. 
- ... • .. ----- .. 

· .... -

community club 

9. The sum of 6 numbers is 70. The average of 4 of the numbers is 12. What is the sum
of the remaining numbers?

( 1) 1.1

(2) 22

(3} 29 

(4) 58

6 







13. The figure below is formed by 3 big identicaJ equilateral triangles and 3 small

identical equilateral triangles. The length of GH is 54 cm. What is the perimeter

of the figure?

54cm 

(1) 162 cm

{2) 324 cm 

(3) 486 cm

(4) 972cm

14. During an enrichment lesson, each pupil in a class was given either .2 or 3 dice.

The ratio of the number of pupils to the number of dice given was 9 : 23. What

fraction of the pupils were given 2 dice each?

(1) 

(2) 

(3) 

(4) 

4 
9 

5 
9 

5 
14 

9 
14 

9 
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PAPER 1 BOOKLET A 

PAPER 1 BOOKLET B 

016) 0.43m

017) i!..

018) 15 + 60 = 2.5

2.5 X 100 = 250

019) 11.4-0.9 = 10.9 cm

020) 118+97=215

276 -34 -215 = 27

27-11 = 16

19-16=3

021 ) 28 X 4 = 112 

112 -28 -22 -20 = 42 

022) 1 bowl➔$r

1 pot➔$14r

7r + 14r = 21r

$(21r + 30)

Pg 1 

Q10 
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Q10) 
Q11) 

Q12) 

Q13) 

Q14) 

Q15) 

Q16) 

. ·-

Q17) 

467.82 cm 
a)39° 

b)129° 

c)31° 

a) Notebook
b) $93.60
c) $130
a) 80 + 60 + 104 + 51 = 295

9440 + 295 = $32

b) 80 + 60 = 140
104 + 51 = 155
155-140 = 15
�x 100= 10�%
140 7 

a)12: 7
b)200

a)968 + 40 = 1008
1 unit= 1008
(1008) + 40 = $5080

b)(1008 x 6) + 162 = 6210 
(6210 + 6) X 7 = $7245 

c)$108675 

a)<HKJ = 180-67 -67 = 46 
<HKJ = 46° 

·· • .  
.. 

bJ<GFH = 44°-··· . . 

a)(2.7 + 1.5)-1.8 = 2.4 
2.4 X 6 = 14.4 
14.4L = 14L 400ml 

b)1.8 -1.5 = 0.3
14.4L = 14400ml
0.3 = 300ml
14400 -(300 X 8) = 12000
(12000 x 3 )  + 1250 = 28.8 cm

Pg4 

. .
... -- - ... . _. - -• - . . · - . 

-

c) Extra volume = (3/4 - 1/3) x 12 x 3
    = 15 litres
    Extra Tap Y time = 15 / 1.5 = 10min
    Tap Y off time = 12:55 + 10 = 13:05




